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Look at the GDP (per capita) and the PPP for each of these ten countries and 
rank them from 1 to 10  
 

 

 

 
 
Can you suggest or explain why there is not a perfect match between the 
rankings of GDP and PPP? 

Country GDP (per 
capita) 
US$ 

Rank GDP 
(PPP) 

Rank 

Spain 27,570  28,420  

Canada 36,170  34,610  

Singapore 29,950  31,700  

Germany 36,620  31,280  

United Arab 
Emirates 

23,950  23,990  

Italy 32,020  29,840  

Kuwait 30,630  29,200  

France 36,550  32,130  

Hong Kong 28,460  38,180  

Japan 38,410  33,730  

New Zealand 27,250  26,470  

Australia 35,990  31,860  


